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CHM152 Quiz3a  25Pts Name: )< e \\j

Show all work to receive credit.

1. (4 Pts) Calculate the pH of a solution coritaining 0.20 g of NaOH in 2,000. mL of solution. Molar mass
of NaOH = 40.0. Noo ke L8 Vet + OH"
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2. (4 Pts) Calculate the pH of a 3.5 x 10> M HNOj3 solution. /

3. (4 Pts) The pH of 40.00 mL of a Ba(OH); solution is 10.00. What is the H" ion concentration of this
solution? H‘
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4. (4 Pts) What is the pH of a 0.014 M Ca(OH)2 solution?
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5—(2-Pts)-Write-the-formula-for the-conjugate base of HsPOz— 1 73| g
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6. (2 Pts) Identify the Lewis acid in the reaction Ag’(aq) + Cl (aq) — AgCI(s) g

7. (2 Pts) Identify the conjugate acid-base pairs in the reaction

HSO4 + HF = H2S04 + F
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8. (2 Pts) Which of these acids is stronger, H3AsO3 o
9. (2 Pts) Which of these acids is strongerr H3AsO4?

10. (3 Pts) Calculate the H* and OH- ion concentrations in a solution with a pH of 3.85.
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